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4. True or False. If the statement is true, then PROVE the statement. If the

statement is false, then give a COUNTEREXAMPLE. If V and W are
subspaces of R™, then the union V UW is a subspace of R".
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5. True or False. If the statement is true, then PROVE the statement. If the

statement is false, then give a COUNTEREXAMPLE. If V and W are
subspaces of R™, then the intersection VN W is a subspace of R™.
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6. ;JI:WZL: {[;] €R2|w2+y2 =1}. Is V' a subspace of R?? Justify your
Ne BRE zyﬂ/[,.] {1/
[L7]

bt [DF)-[)4 Vo



